diff evMon11 (nm)

Mean = 0.0 +- 0.0 nm
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Maindet weighted avg, local errors - diff evMon11
Chi2/NDOF=0.0/1 Probability = 0.83
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Maindet weighted mean, self pull - diff evMon11

Maindet weighted mean, self pul

Entries

Mean

Std Dev

Underflow

Overflow

-0.006723 + 0.1063

0.1503 + 0.07516
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diff evMon11 (nm)
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Self weighted diff evMon11

X2 I ndf
po

0.04501/1
0.0007936 + 0.04804
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Self weighted pull - diff evMon11

Self weighted pull

Entries 2

Mean 0.004933 + 0.106

Std Dev 0.1499 + 0.07497

Underflow 0
Overflow 0
0.15

Pull




diff evMon11 (nm)

Maindet weighted diff evMon11

X2 | ndf 0.04493 / 1
PO 0.001586 + 0.04818
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Maindet weighted pull - diff evMonl1

Maindet weighted pull

Entries 2

Mean -0.0008875 + 0.106

Std Dev  0.1499 + 0.07494

Underflow 0

Overflow 0
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diff evMon11 (nm)
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Equally weighted diff evMon11

x2 [ ndf

p0O

0.04501/1
0.001465 + 0.04814
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Equally weighted pull - diff evMon11

Equally weighted pull

é_ | Entries 2
E Mean 4.72e-09 + 0.1061
i Std Dev 0.15 + 0.07501
g_ Underflow 0
: Overflow 0
E o e b v b e b e e b b
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